Simulation of a DC biased 1] coupled to a RLC resonator with AC input current
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Resonatorparam £ Zr:=100 2 fr:=14 GHz Q:=1000
coupling capacitor C,:=0.0002 pF E,=hefr=(9.276-107") J

JJ bas current am pliude Idc:=7v4.+1y= <9.7- 1()3> nA

photon current am plitude w_
Tempemture  T:=0.04 K Iac:= Eph-Z—” =132.435 nA  Iac:=50 nA
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Constants

By:=2.06785 107> Wb Kj:=k=(1.381.10"%) %
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Resonator
1 Zg
wrpi=fre2m Cpr:= =0.114 pF Lp:=—=0.001 pH
LLJH'ZR wR
BW::_f£:14 MHz RR::Q-ZR::lUU k$2

MW photon initial normalized inductor flux for energy = 1 photon
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Ping =27
Josephson junction

U(z):=1—cos(Z)=7V4e*T Praq =7 —asin(yy,)=1.816 Brmin = 2810 (74,) = 1.325
2:=0.8,0.81..2.2
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Simulation of a DC biased 1] coupled to a RLC resonator with AC input current
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ODE Parameters

tfin
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Average Energy in the RIC resonatorafterpulse
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